
Сравните со своими ответами !

Log 2 16;            log 2 64;               log 2 2;

Log 2 1 ;             log 2 (1/2);           log 2 (1/8);

Log 3 27;            log 3 81;                log 3 3;

Log 3 1;              log 3 (1/9);            log 3 (1/3);

Log1/2 1/32;       log1/2 4;                log0,5 0,125;

Log0,5 (1/2);        log0,5 1;                log1/2 2.

Таблица ответов.

4 6 1
0 -1 -3
3 4 1
0 -2 -1
5 -2 3
1 0 -1

Если Вы всё выполнили верно, перейдите к слайду 8.  Если 
выполнили с ошибками – перейдите к слайду 7.
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